ACJUNCD4B / ACUJNCD4BKB
IPB6 Outdoor Junction Box

INSTALLATION

Bullet Camera Installation Eyeball Dome Installation
M4x18 Stainless Screws (x4)

/ (pre-attached)

M4x10 Stainless
Steel Screw (x4)

Rubber Gasket

/ (pre-attached]

STBX45 Tapping Screws +
MB Washers (x4]

Dome Cover Ring

Rubber Plug
(pre-attached)

M4x10 Stainless
Steel Screw (x4)

Ball Camera
Dome Cover

SX8 Plastic
Anchors (x4])

Make sure to install in an area that can support
the total weight of the camera and accessaories.

See lorex.com/compatibility for the latest
compatibility list.

230.0
1305 134.0 [5.28"]
l——ean—— S0l | 2wa L
@ o i v‘(h %
Junction Box Rubber Gasket Rubber Plug Waterproof Ao 630 4o @ 80 105 = — g »
Connector 4-0852033') | g
he e ' ! 1327
ﬁ -jgg— 12-M4 780 28.5[112"
- 00—~ Conduit: G3/4” |
SX8 Plastic STBX45 Tapping MB Washers M4x10 Stainless  Allen Key If using conduit. vou must use thread
Anchors (x4) Screws (x4) (x4) Steel Screws (x4) S3.0 d Y .
seal tape to ensure a proper seal. Weight: 0.6kg / 1.3lbs

lorex.com
ACJUNCD4B_ACJUNCD4BKB_INSTALLATION_DIAGRAM_EN_RI1



